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“SIMPLE” COMPOUND INTEREST

Comparing Simple Interest to Compound Interest

The SIMPLE way to calculate COMPOUND INTEREST

e The interest is calculated at regular compo“nd' /3

Compound Interest is interest paid on the
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odde

AND it’'s accumulated

Prin u'PQ (

periods and then

Compounding Period: The

calculated

to the principal for the next compounding period.

length of —ime

for which interest is

before

EXAMPLE
Calculate the amount of a $3 000 investment after each year for 5 years at 8% simple interest.
Graph your results on the grid shown.

being accumulated.

Year | Principal Interest Total Amount
1 | 2000 |3000 (0.08)(4)M0| 3240
2 | 3000 2000 (0.08)( 1) =240| 2y SO
3 |%000 240 3720
4 | 2000 2Yyo fﬂ 50
5 | 2000 240 Y200

Using Simple Interest to Calculate Compound Interest

Next, to calculate the amount of a $3 000 investment after 5 years
at 8% compounded annually, use the simple interest formula each

year on the principal AND previously accumulated interest.
Graph your results on the same grid as above.

Year | Principal Interest Total Amount
1 | 3000 |3000(0.9%8)(1)=2y0| 3240
2 | 2240 [32u0(0.08) (1):25910| 343920
3 | 3499.22 |B4A9.2000.08) )N 3379,
4 33390y 31740091 - 302,33 | 4O3|.47
5 |qoglyF Lo8I.4*F(0.09)(()-32% 52 | UYo?.9]
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How much more is the compounding investment, compared to the simple interest investment?

4uUO*.Qq- oo = $20%.a9

Adapted from OAME Support Resources for MBF3C — Personal Finance
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MBF3C — Compound Interest

Which type of interest has linear growth? Which type of interest has exponential growth?

e Simple Interest has l;ﬂeQr" growth because
e Compound Interest has CK{DO/\U‘\"‘«'Q'L growth because
SUMMARY

At the end of each time interval, the simple interest formula is used to calculate the interest, which is
then added to the principal or previous amount.

EXAMPLE 1
a) $500 is invested at 2.4% interest compounded annually for 3 years. Use the simple interest
formula to calculate the total amount after 3 years.

Year Principal Interest Total Amount

1 Soo ‘;Oo(0.0’lLD(l)—_-l'?_ S
2 |5l G2 (0.020)C1) = 1229 52y.29

3152429 [92429(0.020) (D= 1259 | 5%6.%F

b) If the interest was not compounded, how would the final amount be different?

T _ Pt Simple | (ompourd

. YT
. 500(0.024)(3) $36 $ 34+ . Yot
= 346 wh "
CK) 1
EXAMPLE 2 'Vr'ou«ﬁ/ ‘ntore;
a) Carlene wants to borrow $7 000 for five years. Compare the growth of this loan at 7% per
year, simple interest, to the same loan at 7% per year, compounded annually.

_ A="P+T
Simple L = (P + - 7000 + WSO
Interest: - 1000(0.0?-)( ;) _.jq uS o
= 24S0
Compound Year Principal Interest Total Amount
Interest: 4 Fooo Fooo (0. o¥+)1)= Uqo +49©
L |F4q0 |Fyq0(00F)(1)= 924.%0 801y . 30
2 g0ly.20 |80 .20(0.07)(1)=561.00 §575.%
4 Q575,30 | 8515 20(00%)(1)=b00.2%F | A5 57
5 |F5S5F | QTS 57 (0.07)(1)=642.29 | 9817.86
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